Lineare Substitution

Formel:

Herleitung:

Beispiel I:

Beispiel I1:

%[F(mx+c)]+0

/f(ma: e)da =

. . . . /
innere Funktion linear: z = mx 4+ ¢ mit 2’ =m,

mit [F(mz + )] = f(mx+¢)-m (Kettenregel) und
f(lmx +c) = % - f(mx+c¢)-m (Faktor-1-Trick) folgt
flmx +c) = % [F(mz +¢)] = {% - F(mz + ¢)
/(Sx +4)°dx = L F(Sx + 4)6} +C = i(335 +4)°%+C
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Probe durch Ableitung:
/
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{1—8(3:1: +4)% + C] =6- E(3x +4)°-3 = (3z +4)°, qed.

1
—d
/\/2w+1 v
= /(2x+1)_0’5da::
=2z +1+C

: l0,15 (2x + 1)075} +C0==[2-2x+1)%] +C
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Probe durch Ableitung:
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